ASSIGNMENT 9 SOLUTIONS
[image: image1.png]7.2.8 In all these cases, the key is to change the order of integration. The student should in
every such problem begin by sketching the region.
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[image: image2.png]7.2.9 Let f<z) = 4/16 —y2 and Q = {[Z] 0<y <4, 0§:r§2y}. Then the volume in

question is
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[image: image3.png]7.2.10  The volume of the region (2 is given as a triple integral by
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[image: image4.png]7.3.2  The curves rcos = 1 and r = 2 intersect at § = £ /3. Therefore, the area of the region
2 described is
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By elementary geometry, we note that we have a sector of a circle (with central angle 2m/3) less

1
the triangular region inside; thus, the area is —-(47r) - = 2\/_ 3).




[image: image5.png]7.3.3  The area of the cardioid is
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5m/6 57 /6
/ (2 + y?)"3%dA = / —rdrdG = / / —drd0
S w/6 csch rs csc@ 72

:/77:/6(51n9—’—)d0— <—cos9—%0)]:26: 3—%.




[image: image7.png]7.3.13  The volume of the region inside both surfaces is given by
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[image: image8.png]7.3.15  The region lies over the disk » < 1 in the zy-plane; thus, the volume of the region is
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749 Q= { yil 2+t +22<a? 22> O}. Without loss of generality, we may take the

density to be 6 = 1. Then mass(Q2) = gwa‘q’. By symmetry, Z =7 = 0. And
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